N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2 F 2 F 2
[} - [} + o
Sio°k S5k g
2 F @
N £ Sie?
10°F 1 =
E E 3
10°F 10°F
10°F 102f -t %
10g 10~ -5+ 7
Lol 1--;--~|M(”-;-4hm;
o - Y AIghPT_base
S DOM_ CKF QCDnghPl retramOIdFlIeslzs v2_prelimWPM_epochl
o ||“ - e I [0
0.8F- - - . 3 o
0.6fF Nﬂ - ogf--t--a-4-4-- .
—25- 20 15 -5 0 5 10 15 20 25 -25-20-15-10 -5 5 10 15 20 25 0'—'45—20—15— 0-5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 2
8 of 8 8
=10 £ 8
ol g
£ S
10* N
10° 310
10° i i :
10°F 10°F
10? E 3
1
2+
T
x 1
0.9
0 20 30 °%3p 20 -0 0 10 20 30 2030 %520 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


